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3.6.2.4PoložkyZBVě.4ZM2022Datum:21112022Čas:7:12:11
 
Stavba:453,RevitalizacenáměstíTrěkůzLípyveSvětlénadSázavouObjekt:SO709,MěstskýmobiliářnanáměstíRozpočet:SO709,Městskýmobiliářnanáměstí
    Pořě.PoložkaTypTextMJPoěetMJJ.cenaCelkem
-
l-Zemnípráce2513173HLOUBENÍJAMZAPAŽINEPAŽTŘ1M30,64145,0092,80yýkopprozáklad1*1,1*0,29*2=0,64[A]Celkem92,80
-

2-Základy20272314ZÁKLADYZPROSTÉHOBETONUDOC25/30na0,043056,001955,84základvitrín1*1,1*0,29*2=0,64[A]Celkem1955,84
-
9
-
Ostatníkonstrukceapráce1794001TransformátorGPV24V35W1P67,D+MKS4,00585,482341,924=4,00[A]1894002KabelCYKY-l3x1,5,D+MM80,0043,473477,6080=80,00[A]1994003lističSCHRACKlO/B/lF,D+MKS4,00246,12984,484=4,00[A]2094004KabelCYKY-l5x2,5,D+MM40,0082,853314,004040,00[A]2194005KabelováchrániěkaKOPOFLEX40,D+MM40,0059,432377,204040,00[A]2294006PásovinaFeZn30/4,D+MM40,00161,396455,60 4040,00[A]
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 Stavba:453,RevitalizacenáměstíTrěkůzLípyveSvětlénadSázavouObjekt:SO709,MěstskýmobiliářnanáměstíRozpočet:SO709,Městskýmobiliářnanáměstí  Pořě.PoložkaTypTextMJPoěetMJJ.cenaCelkem2394007Doplněníjištěnídostožárověrozvodnice,D+MKS2,00341,25682,502=2,00[A]2494008UkončenívodíěůKPL1,00336,00336,00l=l,00[A]27936001002Montážprvkůměstskěazahradníarchítekturyhmotnostípies0,1doKUS2,006031501207,001,5tmontážvítrin2=2,00[A]Celkem21176,30 Celkemzarozpočet23224,94 


